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QUESTION 1

Which of the following is a practice associated with the security risk known as cross-site scripting (XSS)?
A. Inserting JavaScript code in a URL query string to perform an unintended or malicious action

B. Using a look-alike site to impersonate a trusted site so the user will enter sensitive information

C. Using a certificate authority validation to persuade users to accept a specialized script that can override certain
security restrictions in thebrowser

D. Launching a JavaScript statement that has no conditions for ending, thus requiring the user to close the browser in
order to end the script

Correct Answer: A

QUESTION 2

Which choice demonstrates the correct syntax for declaring a variable?
A. var last name;

B. var andlastname;

C. var "lastname™;

D. var lastName;

Correct Answer: D

QUESTION 3

Consider the following code:

<3cript type="text/javascript">
funetion wyFunction(argl, arcd)

{
returnlargl + argi);
var a = 3, h = 10, sum;

1

sum = mwyFunction(a,b);
alert (sum)

</zcript>

Will this function generate an error?

A. No, because the code is well-formed

B. Yes, because the alert syntax is incorrect
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C. Yes, because there are no valid variables returned
D. Yes, because the passed arguments have not been defined before the function call

Correct Answer: D

QUESTION 4

What is the purpose of the prototype property in JavaScript?

A. It is used to add properties or methods to a JavaScript object.

B. It returns a list of properties and methods of a JavaScript object.

C. It enables developers to create JavaScript code from a specially formatted prototype flowchart document.

D. Itis used to create usage examples of custom objects because its output is not evaluated by the JavaScript
interpreter.

Correct Answer: A

QUESTION 5

Consider the following code:

chtml:

theac:

{<hesds

<bhody

<p:kat'=s your favorite fruit?tasp:

< Iorn name="myForm” :

{input type="radic" name=s"rdoGroupl" i1d="optl" walue="Apple"-:Apple <br.:
¢input type="radic" name="rdoGroupl" id="opt2" waluse="Orange"s :0range <br.:
<input type="radic" name="rdoGroupl" id="opt3" walus="Pear":Pear <br >
- bocy

¢<htnl

Which statement could be used to determine the value of the first radio button?
A. document.rdoGroupl.value

B. document.myForm.rdoGroup1[0].value

C. document.getElementByld(rdoGroup1l).value

D. document.getElementByld("rdoGroupl").value

Correct Answer: B
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